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f General Instructions to Candidates :

\

® There is a 'Cool off time' of 15 minutes in addition to the writing time of
2% hrs.

® You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with questions and to plan your
answers.

® Read the questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from
the same question itself.

® (Calculations, figures and graphs should be shown in the answer sheet itself.

® DMalayalam version of the questions is also provided.

® Give equations wherever necessary.

® [Flectronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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1. a)

b)

c)

b)

c)
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If A and B are two sets such

that AcB, then
AUB = .........

i A i) ¢

1) B iv) U

Consider the sets

A ={x:x1s a natural number
1<x<6}

B ={x: x1is an integer
—2<x <4}

Write A and B in Roster form
and find A — B.

If X and Y are two sets such
that n(X)=17, n(Y)=23
and n(XUY)=38, then find
n(XNY).

A function f is defined by
f(x)=2x—5, then the value

of f(=3) is v,

iy -11

i) -5

i) 11

iv) 1

Consider the relation
R:{(x, x2) :x1is a prime

number less than 10}, find the
domain and range of R.

Draw the graph of the
function f:R— R defined by

f(x)=x2.

(1)

(3)

(2)

(1)

(2)

(2)

b)

b)
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A, B
AcBeowo®d AUB = ...
i) ¢
ivy U 1)

©6NB)  WEMETBGO6M,
1) A
1) B

A= {x: x 80} aggm@ aqvoay,
1<x<6}

B = {x: x a0y ayben moey

-2 <x <4}
A, B agom mememses algle:o
RS gy 21018
A — B w06mes. (3)
X, Y agomilcu @6ns) 1o6mevsgo6ny.
n(X)=17, n(Y)=23,
n(XUY)=38
n(XNY) oo6mys. (2)

@O WO

®0) anoWatm m1dQaNeem @
f(x)=2x—5 emososn, agemoad
f(-3) wes aflel ........... .

1) -11

i) -5

i) 11

iv) 1 (1)
R={(x,x*) : x agana 10 @

®OOYWIRE B0) BOEOLY MVo6y}

QO NITWo al@lWEMI@e) .

R eo@ aemwelaie oomalie
Q)LD Bs. (2)
f[R—>R, f(x):x2 ag)om
aN63aUOM [0l QIO B, (2)



a) Value of Sin % 1S e

1
o3 i) 1

-1 1
111) ﬁ V) ﬁ
b) Find the value of Sin 15°.

¢) Prove that

Sinx + Sin3x
Cosx+ Cos3x

=Tan2x

OR

a) Principal solution of

Slnx:@ls .........
2

N T .. T

1) 6 11) 1

111) 3 iv) 2

b) In any triangle ABC, prove

a b ¢
SinA  SinB SinC’

that

¢) If Cosx = _—2, x lies in third

quadrant. Find the values of
Sinx and Tanx.

Consider the statement.

P(n): 1+8+8% 4. 483"t =-2 —=

a) Show that P (1) is true.

b) Verify that P (n) will be true
for all natural numbers.
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(1)

(2)

(2)

(1)

(2)

(2)

(1)

(3)

1
" 7
b) Sin 15° wes afler ©06mes.

Sinx + Sin3x

=Tan2x 7
©) Cosx+ Cos3x g
OO H6)).
@ 62)81 @D
a) Sinx:@ ag)an VA0
2
odlo@ (elldmiloj@ emoaaum
B06M B>
T T
1) 5 11) 4
LT T
1ii) 3 iv) 5
b) (@lesmoemo ABC Wil
a b c .
- o n T o o
SinA~ SinB~ SinC ™
OO H6)).
c) Cosx:_—5, X @30M 00

a1oydmocwemlecem.  Sinx ,

Tanx  ogmlaueies allel

r06M)s.

P(n): 1+3+8% +... 4371 =2 =

ag)IM  (IM@OALM  alBlNEmles) .

a) P(1) welwoem’ agam’
OO H6)).

b) agglo agem@ moalyd Bee 0
P(n) WAlWoBEMO  ag)(Mm’
1@l BUOOUW H6) 8.
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b)

b)

c)

b)
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Conjugate of the complex
number 2 — 3718 ............

Represent the

number Z=1+i+/3 in Polar
form.

complex

Solve 2x%+x +1=0.

Solve 4x+3<bx+6, xeR.
Show the graph of the
solution on a number line.
Solve the system of linear
inequalities graphically.
3x+4y<60

x+3y<30

x>0, yv=0

How many two digit numbers
can be formed by using the
digits 1, 2, 3, 4 if no digit is
repeated?
1) 12
ii1) 16

i) 8
iv) 4
Find r,if °P, = °P,_,.

r—

Find the number of
arrangements that can be
made from the letters of the
word 'THURSDAY'. How
many of these starts with 7T
and ends with Y?

OR
If "Cyy ="Cyy, thenn=....
1 11 i) 10
i) 1 iv) 21
How many chords can be

drawn through 30 points on
a circle?

(1)

(2)
(2)

(2)

(3)

(1)
(2)

(3)

(1)

(2)

b)

c)

a)

b)

b)

b)

800 (Y (Mokly 2 — 3 Wyes
B 0MERIBNE 6] allSlos .
Z=1+i3 agm e&oogjesm’

Mo6U)6 cal080d

OB O LI 1.
2x% +x + 1= 0 agmmvaQIos 0

mdGEoreMo H.21Q k.

4x+3<5x+6, xcR.
mdGEoreMo H.21Q k.
mdEoEeM Mo MVoEOGEQIM
BOEUOQ|SIO ).
2p01es ealdEwldenm soallw
®OMA® (Noal Halewowlay
mdGEoreMo H.21Q k.
3x+4y<60

x+3y<30

x>0, yv=0
1, 2, 3, 4 agymm| GUEHEBGLIGWO
o] Bneeemd @R dOTIEH06®

ofH® ©6ENS HN MV 06 Yo D
£6NB0H)00?

1) 12 i) 8

111) 16 iv) 4

°P, = °P,_, @owo® r-e alle
H06M)s.

'"THURSDAY' ogm alossilesl
BOOAOEBOE  af)(® ClolWl@d
(D@00 ?

@@ T-oldd oysesl Y-l
@0 VoM BHIOM Q)
QOB BIENSOB0 ?

@ 62)81 @D

80} UEDETI@ 30 mllazieeains
e  cwoKlaflal )@
EMOEM U U600 ?
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c)

b)

b)

In an examination paper
consists of 12 questions
divided into two parts A and
B, containing 5 and 7
questions respectively. A
student is required to
attempt 8 questions in all
selecting 3 from part A and 5
from part B. In how many
ways can the student select

the questions?

Number of terms in the

1\
expansion of [x2——j

3x
1S ceveeenn
i) 14 i) 12
iii) 13 iv) 15
Consider the expansion of

14

9 1 )

[x ——j . Find the
3x

i) general term

i) middle term

1
If g, X, 2—7
progression, then x = ........
1) 11—2 11) %
. 1
iv) 13

are in geometric

i) —
) 15
Insert five numbers between
8 and 26 such that the
resulting sequence is an
Arithemetic progression.

Find the sum to n terms of
the sequence 4, 44, 444, .......

KR-158

(3)

(1)

(1)
(2)

(1)

(2)

c)

a)

b)

b)

alodg A, B agom)) alleow essleio
©fl 80} 62106)Gala]C1@ 12 6aloay
eBg)eng, alods A QI@ 5 calos)
emBglo alods B old 7 ealosyens
8lo. 80} &gl 8 610Gy EBRDHE
OOMOORLI®eMo. alods A I
olon’ 3 calosyEBREe alods B
@ mlan’ 5 62108)EBRBS 0.
@ AR o1 Bal10B)mBR
HBOOETIHS}HN00 ?

3x
OTIOR! a1GEBIOS AGITNO ...cvvreceene.
1) 14 i) 12
11) 13 iv) 15

1\
[xz - —j o) allaselleoem

1\
2
X" - Qflapedl
[ 3xj oM@ aflapefle-oemo

al@leMmloe))s.
Aflaiefleeemamlesl

1) 6alo®alBo BO6Mb:

1) aWynlBo BO6MIde:

%, X, 2i’7 agamial 8w ava
Ml euyemieoal @sdajwow
23O alBEIBE0OEMESI@ X-6 allel
B06M)Bs.

L1 .
1) 12 11)
o 1 :

1i1) 1 iv) 13

8, 26 gl avoeysResilsi@d
@OeR  (ollyB®WB  QUQOEDEE
Alwemlad eoy aoano U6l

3ol Bleoe)ces.

- Ol

N alBaBgIeS @ik &ensialls]
o, 4, 44, 444, ...

853

(3)

(1)

(1)
(2)

(1)

(2)

(2)

Turn Over



10.

11.

a) Which one of the following
lines passes through the
origin?

i) 2x+3y+1=0
i) x+y-1=0
i) 2x -y =0
iv) x—y+3=0

b) Find the distance between
the parallel lines

3x—4y+7=0 and
3x—4y+ 5=0.

c¢) Find the equation of a line
perpendicular to the line
2x—2y+3=0 and passing
through the point
(1,2)
OR

a) Slope of the line
3x—4y+10=0 1s ........

b) Find the equation of a line
passing through (1, 2) and
(37 _1)

¢) Find the equation of the line
through the intersection of
the lines x+2y-3=0and
4x-y+7=0 and which is

parallel to 5x+ 4y— 20=0.

Consider the ellipse

2 2
x+y 1

81 49
a) Find the eccentricity and
foci.

b) Find the length of latus
rectum, length of major axis
and minor axis.

KR-158

(1)

(2)

(2)

(1)

(2)

(2)

(2)

(2)
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10. a) oyar  enflagyaieyes  @smy

11.

B0 COEU af®?

1) 2x+3y+1=0

i) x+y-1=0

1) 2x -y =0

iv) x-y+3=0 (1)

b) 3x—4y+7=0, 3x—-4y+ 5=0
Q)01 qVAOHO BRI DHEIS®I
eS8 300 @6nalallSlee . (2)
c) 2x—-2y+3=0 agmm coaUWSE
elosnimo@@o (1, 2) agyom enflasy
QNleRes Sy GaloB M @AW
BOEUW6S AU o
#6n210 (1516668 (2)
@ 62)81 @D
a) 3x—4y+10=0 agym avmloss)
OO MVERIOQ] B06MHs. 1)
b) (1, 2), (3, -1) agl nlmiees]
BIOS SN BB COELWIOS
AOIOB0 6Nl l1S166) 1. (2)
¢) x+2y-3=0, 4x—y+7=0
)Ml GEAIMSHEIHS  Mownd
nflazflad #3S1 BHSIMIBAIOBIM
o dx+4y—20=0 oo

86U W DS MO OAUIAOW
BOEUWIOS MAQI0E Y0
6130151660168 (2)
2 2
X Y I
—+=—=1 efl
81 49 QI cQFeIm
al@leMmloe))s.

a) af)@m@Almlgl, GanoHHIVE: KD
EDQU BHO6M ks (2)
b) elogmieosgo, cmed @EMIMY,
eamd @RHMIN ag)mlaWes
8o B06M)ds.. (2)



12. a)

b)

13. a)

b)

a)

b)

14. a)

b)

KR-158

Any point on Y-axis is of the
form

1) (x,0,0)
i) (0, y,0)
11) (0, 0, 2)
iv) (0,0, 0)

Show that the points
P(_27 37 5)7 Q (17 27 3) and
R (7, 0, 1) are collinear.

Value of

Lim Sinax

x—>0 Sinbx’ a,b%0
i) a i) b
1i1) b iv) —
Find the derivative of
y = Tanx by using the first
principle.
OR

Value of JCLZ%% T
i) 0 i) -1
o 1 .
1ii) 5 iv) 1
Find the derivative of
Cosec x

2

Write the negation of the
statement, "Every natural
number is greater than zero".

"J5 is irrational”. Prove by

the method of contradiction.

(1)

(2)

(1)

(3)

(1)

(3)

(1)

(3)

12. a)

b)

13. a)

b)

b)

14. a)

b)

Y-enssoniloa ey emlimaled
VUOAOMY BIAIO +eeeeeeeeenrees @De.

1) (x,0,0)

i) (0,y,0)

11) (0, 0, 2)

iv) (0,0, 0)

P23 5), @1, 2, 3),

R (7, 0, —1) egmlcu ey
soau@leoa  enflmenaoesmam’
OO H6)).

Lim Sinax

x—>0 Sinbx’ a,b%0 gl
aller ...

1) a i) b

... a .. b

1ii) b iv)

y=Tanx o@ sawolsauglal’
anvg (llddmlafld pale@ouilef
BOENSOT 6.

@ 62)81 @D

Lim Tanx
x—0 X

i 0

1
111) 5

Cosec x

2 o

X
6130151660168

pawolsaliglal

"Every natural number is
greater than zero" ogm
(LMW ®OAIM ©IOS OMEWaHmd

Q)LD Bs.

"J5 s ag)am
(I ®OUM B 06M (S e M
AS AN H&E|QB6))6.

irrational”
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(1)
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(3)
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16.

15. Consider the frequency 15. @ooy @aldleogm @O
distribution table. oI5l yos:
Class 30-40 | 40-50 | 50-60 | 60—70 | 70-80 | 80-90 | 90-100
Frequency 3 7 12 15 8 3 2
a) Find the mean and standard a) mowyo, gromeandal allafle@andd
deviation. (6)
b) e@owadlany® 6ol cIClcWan®
b) Figd ‘the coefficient of (coefficient of variation) epau
variation. (3) @683 1106 165.
3 : 3 :
a) If P(4)=2, P(A)= 16. a) P(A)=< aowod P(A')
9 9 B506MHs.
Vo3 W5 2 2
1) — i) —
5 3 5
i) 1 iv) & 1) 5
3 iii) 1 i) -
b) A die is tossed.
b) &ry sew 6SOQY Ol
i) Write the sample space. (1) ) ey W OIS
1) momlld eI ag)P e
i1) ch‘l the probability of i) 2 emesod Ao B0
getting a number greater oy S5 G188
than 2. (1 alotosrusnlleg]l ©:06miws.
0 P(A)=, P(B)== P(A)=2, P(B)="1
3’ 5’ o P(4)=5, P(B)=¢,
P(ANB)=— L
(ANB)=r P(ANB) =2 cowont
find :
o iy P(AUB)
i) P(AUB)
i) P(A'NB)
i) P(A'NB)
iii) P(A'N B)
iii) P(A'N B) 3)
EDCU HOEM .

KR-158
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